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K9 87.392| 55.748

K3 96.246] 90.755

K4 111.472] 74.993

KS 109.893 73.75

K2 73.568] 72.996

K8 97.504| 63.823

K15 110.992] 46.932

K12 124.594] 58.596 <::>
K13 118.046 52.983 —
K6 104.717 69.660 \'\ /\,‘
K14 117.811 52.789 -
K7 104.470 69.490
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& hel AIC
100 0.007 38 o
77
1.000129 0.005 37
a  -0.004698 1.000129 0.010
b 1000118 1000 [ Fiuree AIC 38
X 1,005.952 -89°43~51" 0.007
y 774388 1.26
12 s l h —I 7
(
X Y X Y X Y
1j9 722,861 -915061| o |K9 87.392 55.748 |h9 87.387 55.741
2|3 687.805 -906.367 o K3 96.246 90.755 |h3 96.247 90.760
34 703.484 -891.063 o K4 111.472 74.993 |h4 111.479 75.007
4[5 704.777 -892.670 K5 109.893 73750 |h5 109.866 73.722
5|2 705.662 -928.963 o KC2 73.553 73.015 |h2 73.565 73.007
6|8 714.733 -904901| o |K8 97.504 63.823 |h8 97.497 63.822
7015 731557 -891424| o [K15 110.992 46932 |h15 110.986 46.933
12 719.835 -877.876 o K12 124594 58.596 |h12 124591 58.592
13 725474 -884.393 h13 118.047 52.983
6 708.895 -897.762 h6 104.754 69.627
14]14 725,670 -884.620 hi4 117.819 52.788
7 709,083 -897.996 h7 104519 69.440
1
49-100 103 9.292
0.300
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